t(hr) y(10) y(30) y(50)
0 10 30 50
0.5 10.71758 32.15273 53.58788
1 11.48665 34.45994 57.43323
1.5 12.3109 36.9327 61.5545
2 13.1943 39.58291 65.97151
2.5 14.14109 42.42328 70.70547 Graph Of Amount C
3 15.15583 45.46748 75.77914
3.5 16.24337 48.73012 81.21687
4 17.40896 52.22688 87.04481
4.5 18.65819 55.97456 93.29094
5 19.99706 59.99117 99.98528
5.5 21432 64296  107.16
6 22.96991 68.90973 114.8495
6.5 24.61818 73.85453 123.0909
7 26.38472 79.15416 131.9236
7.5 28.27803 84.83408 141.3901
8 30.30719 90.92158 151.536
8.5 32.48197 97.4459 162.4098
9 34.8128 104.4384 174.064
9.5 37.31088 111.9327 186.5544
10 39.98823 119.9647 199.9411
10.5 42.85769 128.5731 214.2885
11 45.93306 137.7992 229.6653
11.5 49.22911 147.6873 246.1455
12 52.76168 158.285 263.8084
12.5 56.54773 169.6432 282.7387
13 60.60547 181.8164 303.0273
13.5 64.95437 194.8631 324.7719
14 69.61535 208.8461 348.0768
14.5 74.61079 223.8324 373.0539
15 79.96468 239.8941 399.8234
15.5 85.70277 257.1083 428.5138
16 91.8526 275.5578 459.263
16.5 98.44373 295.3312 492.2186
17 105.5078 316.5235 527.5391
17.5 113.0788 339.2365 565.3941
18 121.1931 363.5793 605.9655
18.5 129.8896 389.6689 649.4482
19 139.2102 417.6306 696.0511
19.5 149.1996 447.5988 745.9981
20 159.9058 479.7175 799.5292
20.5 171.3803 514.1409 856.9015
21 183.6782 551.0345 918.3908
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215
22
22.5
23
23.5
24
24.5
25
25.5
26
26.5
27
27.5
28
28.5
29
29.5
30

196.8585
210.9846
226.1244
242.3505

259.741
278.3794
298.3553
319.7646
342.7102
367.3023

393.659
421.9071
452.1822
484.6297
519.4056

556.677
596.6228
639.4351

590.5754
632.9538
678.3731
727.0515
779.2231
835.1383
895.0659
959.2938

1028.13
1101.907
1180.977
1265.721
1356.546
1453.889
1558.217
1670.031
1789.868
1918.305

984.2924
1054.923
1130.622
1211.753
1298.705
1391.897
1491.777
1598.823
1713.551
1836.511
1968.295
2109.535
2260.911
2423.148
2597.028
2783.385
2983.114
3197.175
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